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1. F9T gfRad & & 30 ueaf 97 7 Afed oo deamr # 9 § 3R swed 14
e &

Please make sure that the printed pages in this question paper are 9 in number and
it contains 14 questions.

2. 99T 9T & glfgal g T AR AU AT I3 FAe AT AT I BF IR-Giecraht
% AT g W oyl

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

3. fohdll 92T & 3T el Y& Ao § Ugol 3T HaATH aT forgen =ifgu|
Before beginning to answer a question, its Serial Number must be written.

4. H9A IW-GREAH 7 Wl T56/T56 7 BIS|
Don't leave blank page/ pages in your answer-book.

5. 30X Gidel & 3fcrar @S faRed efe #g1 & Srwah| 3 raRdehdn
3ER 3R ford 3R fafed 3o &t e =8|

Except answer book, no extra sheet will be given. Write to the point answer and do not
strike through the written answer.
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6. OB FRATT T YT IefshATeh AT Tord| el A o Jelldl Yool I
W Fo o & O 3R argfase yeR & 9@ & IR W A (AT o
AT

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective type
questions.

7. 9% & IR Sl F Ug IE FARTT FX of TR 3Rl FEr 3R qol 9o 9
fear s §, 9dieT & 91 39 WY A HI§ @1 AT AGH g |

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after examination.

NOTE:

The question paper is divided in to 4 sections: - (A, B, C, D)

SECTION A consist of 1 Question (10 parts of Objective Type Questions) of 1 mark each.
SECTION B consist of 4 Very Short Answer type questions of 1 mark each.

SECTION C consist of 5 Short Answer type questions of 2 mark each.

SECTION D consist of 4 Essay type questions of 4 marks each with Internal Choices.

A :

9esT 99 4 @eY H «er 4T §: - (A, B, C, D)

s A #H 1 9o (TEIISS TR F oAl & 10 #HEn) @A §, UAF 1 3HF F g
gl

@s B # 1 3F & 4 Ifa 9g 3707 vFR F 9T &

s C # 5 aY 3007 WA § foaisl & vdw 2 3% #1 ¢

s D & al® RAFeT & T 4 3F F 4 A9y g & vod afAT &1

SECTION-A

1. All questions are compulsory and carry 1 mark each.

it weer feard § 3R v@AF wee 1 IF F+ B 10
i. 1. CPU itself has following components.

a) 3

b) 4

c) 1

d) 2
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CPU # fasafaf@a gcah gid gl
a) 3
b) 4
c) 1
d) 2

ii. Which of the following is base of octal number system?

iii.

1v.

a)7
b) 2
c)8
d) 1

Aafaf@a & @ i 91 375 J&IT YUTTell &l YR g7

a)7
b) 2
c)8
d)1

ASCII used to represent the characters.
a)7 bits
b)6 bits
c) 8 bits
d)9 bits

ASCII = guit &1 gfafaftca &= & fow HT 3917 TR
a) 7 foca
b) 6 New
c) 8 foca
d) 9 feg

A technique for attempting to acquire sensitive data, such as bank
account numbers, through a fraudulent solicitation in email or on a web
site, in which the perpetrator masquerades as a legitimate business or
reputable person.
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a) Phishing
b) Hacking
c¢) Cracking
d) Snooping

sHel AT Tl 99 WIS W Fucqul fdesT & AEIA § Hdgeiehel eI,
SO 5 S @rar g&ar, cg S FT T Sl s Ush dehelleh, Tolda
T T Y FaaT A1 gfafed afFd & ¥ H T@HRT I ¢l

a) ffrer
b) gfehar
c) shishar
d) e

N

V. is the trail of data we leave behind when we visit any website
(or use any online application or portal) to fill-in data or perform any
transaction.

S &7 3¢T IR IT IS ool el & folv frd daase (ar fredy
3iTeTers UCeaheleT AT TCe T 3UAWT A &) W I & ar 87 3T FT R
B &d 81

vi. An loT network is a collection of interconnected devices?
(True/False)

T 0T wcde Id & 3 3USON &T Ueh HIE 7
(T@eT/ 31ET)

vii. Hash symbol(#) is used in Python to make a single line comment?
(True/False)

el [aer # F1 39ART 9y & A9 aEd ddc X & fow har Jrar
g7

(T 3)



1X.

Viil.

II.

II1.
IV.

L.
II.

is a set of well-defined instructions to solve a particular

problem.

Ush IV JHAEAT A g A & [T 3= g T gRania
& T T AT T

Direction: In the questions given below, there are two statements
marked as Assertion (A) and Reason (R). Choose the correct option
out of the choices givenbelow in each question:

fader: M QU v geat #, Hya (A) IR FROT (R) & & & AT @
FUT &1 I AP U H Od GU 0 AFeur § ¥ TEr Ahed &1 I
HifaT:

Assertion (A): List elements can be also access via negative indexes.
Reason (R): Python lists follow positional indexes.

Both (A) and (R) are correct and (R) is correct explanation of (A).

Both (A) and (R) are correct and (R) is not the correct explanation of
(A).

(A) 1s true but (R) is false.

(A) is false but (R) is true.

HYUA (A) : T cdcdl P KUMcHS [hATID & AEIH & 3 wardg
forar ST wehar B
SROT (R): 9T o AT gshAOInT HT drolel AL &

(A) 3R (R) a=r @@r g 3R (R) (A) Fr @gr earear gl
(A) 3R (R) et &7 € 3R (R) (A) Fr & sarear =g gl

. (A) T § Afhed (R) 319T ¢
IV. (A) 38T ¢ afra (R) aF &1

Assertion (A): A dictionary consists of a collection of key-value pairs.
Reason (R): Each key-value pair maps the key to its associated value.

Both (A) and (R) are correct and (R) is correct explanation of (A).
Both (A) and (R) are correct and (R) is not the correct explanation (A).

III. (A) is true but (R) is false.
IV. (A) is false but (R) is true.
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HUT (A) : Teh ACHIA H Holl-Fed SIS HT HIAE &icll ¢
FROT (R): A Foll-Hed SIS ol H 3qF AT 7qed & fav A9
T B

l.  (A) 3R (R) gl ¥&r § 3R (R) (A) &I Hgr SI1&dm gl

. (A) 3R (R) a1 &@&r g 3R (R) (A) Fr F&r <qream =g gl
. (A) IF § afhad (R) 30T g

IV. (A) 38T § afhed (R) IcF &I

SECTION-B

All questions are compulsory. Marks are indicated against each question.

Toft uesT 3faary §1 T W & e 37 fou v g

2. What do you understand by Flowchart? 1
T & 39 AT JHSTT 87
3. What do you mean by Cloud Computing? 1

FAT3S HYIT H 1T T FASIA 872

4. Define Computer? 1
HTYEY I IRATT HI?

5. Write the syntax of For loop in Python. 1
Y #H BN o9 & Hdwd faf@u?

SECTION-C

Marks are indicated against each question.

gcdeh 92T & A 3 feu v g

6. What do you mean by tuples? Give an example? 2
TYCH ¥ 3T FAT THSIA 8?7 Th 3801 &7

7. How will Python evaluate the following expression? 2
15.0/4+(8+3.0)
OR
Write a Python program to find the area of a rectangle given that its length is 10
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units and breadth is 20 units.

Y AEATAET HHATFT HT Hodlhad HA HaN? 2
15.0/4+(8+3.0)
T
3TIT FT &TTheT AT el & Tl Teh I g fof@v, Sadr oe@e 10 &5

AR =istS 20 3oTS &

8. Do the following conversions from Binary number to other number systems. 2

I (10101100),= ( )8
1L (0110101100), = ( )is

AFITIT TR &l a5ell ¥ 3+ Fa qEeH # S|

[. (10101100)= ( )38
I1. (0110101100)2=( )i6
9. Name the input or output device used to do the following: 2
a) To output audio
b) To enter textual data

c¢) To make hard copy of a text file
d) To display the data or information

7T #d & & U 3UEET 6T S el o9 AT IM3eYe Sarsd &
ATH FT:

a) 37T 3T3cYe e & faw

b) MMTsGeh 3T Gof HA o foll

¢) CHEC BIST T g5 HIUT §olled b foIT

d) SeT AT AT Jefdd o & forw

10. What are key steps required for solving a problem?

fordl THEAT A1 g A F AT MaTS YHG dHeH FAT 82



SECTION-D

Marks are indicated against each question.

I 92 & TAHA 3 fgu v

11.Name different types of operators used in Python? 4

TR H 9YEd gl dTel faffiest g & el & A aare?
OR

What is Python? What are the benefits of Python?

9rIYsT T g2 YA & FIT BIIG o7

12. Define operating system? Explain the various functions in operating system? 4
AR fAeea & aReida w17 AT feeq # Affie srEif & e
A7

OR
Elaborate functional components of computer system and their interconnection?

HYN [AFCH & FRATcHAS el 3T Ioleh SeThalearlel Sl SUREAT Hi?

13. Explain the following: 4
a) Artificial Intelligence
b) Machine Learning
fArafaf@a $r sarear wt
a) feipie scfoe

b) #refer afsier
OR

Write short notes on the following: 4
a) Cloud Computing
b) Big data



farfaf@a w d@faca oot fafaT:

a) Fe138 Hgiea
b) fear Ser

14. Explain in detail about net etiquettes, communication etiquettes and 4
social media etiquettes.

ac Ufehed, hEgiahee Uieshed 3R @ere MfSar viehed & IR & faEar

¥ GHSSU |
OR

What are the numerous health risks associated with computer use?

HePeX & IUANT § S5 HS T SIEH FI7 82
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